
Integration 2 

 

1.  Find: 

 (i) ∫(1 − √𝑥)𝑑𝑥  (ii) ∫ √3
𝜋

2
𝜋

6

sin 𝑥 𝑑𝑥  (iii) ∫ −
𝜋

4
0

cos 2𝑥 𝑑𝑥 (iv) ∫ 6𝑒3𝑥+5𝑑𝑥 

 (v) ∫ 𝑥√4 − 2𝑥2𝑑𝑥 (vi) ∫ 𝑥 cos 𝑥 𝑑𝑥 

 

 

 (i) ∫(1 − √𝑥)𝑑𝑥 = 𝒙 −
𝟐

𝟑
𝒙

𝟑

𝟐 + 𝒄 

 (ii) ∫ √3
𝜋

2
𝜋

6

sin 𝑥 𝑑𝑥 = [−√3 cos 𝑥]𝜋

6

𝜋

2 = −√3 cos
𝜋

2
+ √3 cos

𝜋

6
= √3 (

√3

2
) =

𝟑

𝟐
 

 (iii) ∫ −
𝜋

4
0

cos 2𝑥 𝑑𝑥 =
1

2
∫ −

𝜋

4
0

cos 2𝑥 𝑑(2𝑥) = [−
sin(2𝑥)

2
]

0

𝜋

4
= [−

sin(2×
𝜋

4
)

2
] − [−

sin(0)

2
] = −

𝟏

𝟐
 

 (iv) ∫ 6𝑒3𝑥+5𝑑𝑥 =
6

3
∫ 𝑒3𝑥+5𝑑(3𝑥 + 5) = 𝟐𝒆𝟑𝒙+𝟓 + 𝒄 

 (v) ∫ 𝑥√4 − 2𝑥2𝑑𝑥 = −
1

4
∫ √4 − 2𝑥2𝑑(4 − 2𝑥2) = −

1

4
×

2

3
(4 − 2𝑥2)

3

2 + 𝑐 = −
𝟏

𝟔
(𝟒 − 𝟐𝒙𝟐)

𝟑

𝟐 + 𝒄 

 (vi) ∫ 𝑥 cos 𝑥 𝑑𝑥 = ∫ 𝑥𝑑(sin 𝑥) = 𝑥𝑠𝑖𝑛 𝑥 − ∫ sin 𝑥 𝑑𝑥 = 𝒙 𝒔𝒊𝒏 𝒙 + 𝐜𝐨𝐬 𝒙 + 𝒄 

 

2. Evaluate ∫ 𝑠𝑖𝑛2 𝑥 𝑐𝑜𝑠2 𝑥 𝑑𝑥. 

 

 ∫ 𝑠𝑖𝑛2 𝑥 𝑐𝑜𝑠2 𝑥 𝑑𝑥 =
1

4
∫(2 sin 𝑥 cos 𝑥)2 𝑑𝑥 =

1

4
∫ sin2 2𝑥 𝑑𝑥 =

1

8
∫(1 − cos 4𝑥) 𝑑𝑥 

 =
1

8
(𝑥 −

sin 4𝑥

4
) + 𝑐 

 

3. Evaluate ∫ 𝑥2 𝑐𝑜𝑠−1𝑥 𝑑𝑥. 

 

 ∫ 𝑥2 𝑐𝑜𝑠−1𝑥 𝑑𝑥 =
1

3
∫ 𝑐𝑜𝑠−1𝑥  𝑑(𝑥3) =

1

3
[𝑥3𝑐𝑜𝑠−1𝑥 − ∫ 𝑥3  𝑑(𝑐𝑜𝑠−1𝑥)], integration by parts 

 =
1

3
[𝑥3𝑐𝑜𝑠−1𝑥 − ∫ 𝑥3 (−

𝑑𝑥

√1−𝑥2
)] =

1

3
[𝑥3𝑐𝑜𝑠−1𝑥 + ∫

𝑥3

√1−𝑥2
𝑑𝑥] 

 =
1

3
[𝑥3𝑐𝑜𝑠−1𝑥 −

1

2
∫

𝑥2

√1−𝑥2
𝑑(1 − 𝑥2)] 

 =
1

3
[𝑥3𝑐𝑜𝑠−1𝑥 −

1

2
∫

1−(1−𝑥2)

√1−𝑥2
𝑑(1 − 𝑥2)] 

 =
1

3
[𝑥3𝑐𝑜𝑠−1𝑥 −

1

2
∫(1 − 𝑥2)−

1

2 𝑑(1 − 𝑥2) +
1

2
∫(1 − 𝑥2)

1

2 𝑑(1 − 𝑥2)] 

 =
1

3
[𝑥3𝑐𝑜𝑠−1𝑥 −

1

2

(1−𝑥2)
1
2

1

2

+
1

2

(1−𝑥2)
3
2

3

2

] + 𝑐 



 =
1

3
[𝑥3𝑐𝑜𝑠−1𝑥 − (1 − 𝑥2)

1

2 +
(1−𝑥2)

3
2

3
] + 𝑐 

 

 

 

4. Find by integration by parts ∫ 𝑥3 𝑒−𝑥2
𝑑𝑥. 

 

 

 ∫ 𝑥3 𝑒−𝑥2
𝑑𝑥 = −

1

2
∫ 𝑥2 𝑑(𝑒−𝑥2

) = −
1

2
[𝑥2𝑒−𝑥2

− ∫ 𝑒−𝑥2
𝑑(𝑥2)] = −

1

2
[𝑥2𝑒−𝑥2

− ∫ 2𝑥𝑒−𝑥2
𝑑𝑥] 

 = −
1

2
[𝑥2𝑒−𝑥2

+ 𝑒−𝑥2
] + 𝑐 = −

𝟏

𝟐
𝒆−𝒙𝟐

[𝒙𝟐 + 𝟏] + 𝒄 

 

5. Evaluate ∫
𝑑𝜃

𝑎2−2𝑎𝑏 cos 𝜃+𝑏2

𝜋

0
 

  Let 𝑡 = tan
𝜃

2
 , dt =

1

2
sec2 𝜃

2
𝑑𝜃 ⟹ 𝑑𝜃 =

2𝑑𝑡

sec2𝜃

2

=
2𝑑𝑡

1+𝑡2 

     cos 𝜃 = cos2 𝜃

2
− sin2 𝜃

2
=

cos2𝜃

2
−sin2𝜃

2

sin2𝜃

2
+cos2𝜃

2

=

1−
sin2𝜃

2

cos2𝜃
2

sin2𝜃
2

cos2𝜃
2

+1

=
1−𝑡2

1+𝑡2 

 When 𝜃 = 𝜋, 𝑡 = ∞ .  When 𝜃 = 0, 𝑡 = 0 

 ∫
𝑑𝜃

𝑎2−2𝑎𝑏 cos 𝜃+𝑏2

𝜋

0
= ∫

2𝑑𝑡

1+𝑡2

𝑎2−2𝑎𝑏(
1−𝑡2

1+𝑡2)+𝑏2
=

∞

0
∫

2𝑑𝑡

(𝑎2+𝑏2)(1+𝑡2)−2𝑎𝑏(1−𝑡2)
=

∞

0
∫

2𝑑𝑡

(𝑎−𝑏)2+(𝑎+𝑏)2𝑡2

∞

0
 

 =
2

(𝑎+𝑏)2 ∫
𝑑𝑡

(
𝑎−𝑏

𝑎+𝑏
)

2
+𝑡2

∞

0
=

2

(𝑎+𝑏)2 [
𝑎+𝑏

𝑎−𝑏
𝑡𝑎𝑛−1 (

𝑎+𝑏

𝑎−𝑏
) 𝑡]

0

∞

=
𝟏

𝒂𝟐−𝒃𝟐 (
𝝅

𝟐
) , 𝑎 > 𝑏 

 

6. Evaluate ∫ cos 2x cot 2x dx 

 

 ∫ cos 2x cot 2x dx = ∫
cos2 2x

sin 2x
dx = ∫

1−sin2 2x

sin 2x
= ∫ [

1

sin 2x
− sin 2x] dx = ∫

dx

2 sin x cos x
− ∫ sin2xdx 

 =
1

2
∫

sec2x

tan x
dx − ∫ sin2xdx =

1

2
∫

d(tan x)

tan x
− ∫ sin2xdx =

𝟏

𝟐
𝐥𝐧|𝐭𝐚𝐧 𝐱| +

𝟏

𝟐
𝐜𝐨𝐬 𝟐𝐱 + 𝐜 

 

 

7. Evaluate ∫
ln 𝑥

𝑥5 𝑑𝑥 

 

 𝐼 = ∫
ln 𝑥

𝑥5
𝑑𝑥 = −

1

4
∫ ln 𝑥 𝑑 (

1

𝑥4
) = −

1

4
[

1

𝑥4
ln 𝑥 − ∫

1

𝑥4
𝑑(ln 𝑥)] , integration by parts 



 = −
1

4
[

1

𝑥4 ln 𝑥 − ∫
1

𝑥4 (
𝑑𝑥

𝑥
)] = −

1

4𝑥4 ln 𝑥 +
1

4
∫

1

𝑥5 𝑑𝑥 = −
1

4𝑥4 ln 𝑥 −
1

16𝑥4 + 𝑐 

 (You may put 𝑢 = ln 𝑥 , 𝑑𝑣 =
𝑑𝑥

𝑥5
 in the integration by parts.) 

 

8. Evaluate ∫(3𝑡 + 𝑡2) sin(2𝑡) 𝑑𝑡. 

 

 ∫(3𝑡 + 𝑡2) sin(2𝑡) 𝑑𝑡 = −
1

2
∫(3𝑡 + 𝑡2) 𝑑[𝑐𝑜𝑠(2𝑡)] = −

1

2
[(3𝑡 + 𝑡2)𝑐𝑜𝑠(2𝑡) − ∫ 𝑐𝑜𝑠(2𝑡) 𝑑(3𝑡 + 𝑡2)] 

 = −
1

2
(3𝑡 + 𝑡2)𝑐𝑜𝑠(2𝑡) +

1

2
∫(2𝑡 + 3)𝑐𝑜𝑠(2𝑡) 𝑑𝑡 = −

1

2
(3𝑡 + 𝑡2)𝑐𝑜𝑠(2𝑡) +

1

4
∫(2𝑡 + 3) 𝑑[sin(2𝑡)] 

 = −
1

2
(3𝑡 + 𝑡2)𝑐𝑜𝑠(2𝑡) +

1

4
[(2𝑡 + 3) sin(2𝑡) − ∫ sin(2𝑡)𝑑 (2𝑡 + 3)] 

 = −
1

2
(3𝑡 + 𝑡2)𝑐𝑜𝑠(2𝑡) +

1

4
[(2𝑡 + 3) sin(2𝑡) − 2 ∫ sin(2𝑡) 𝑑𝑡] 

 = −
1

2
(3𝑡 + 𝑡2)𝑐𝑜𝑠(2𝑡) +

1

4
[(2𝑡 + 3) sin(2𝑡) + 𝑐𝑜𝑠(2𝑡)] + 𝑐 

 =
1

4
[(2𝑡 + 3) sin(2𝑡) − (2𝑡2 + 6𝑡 − 1)𝑐𝑜𝑠(2𝑡)] + 𝑐 

 

9. Evaluate ∫ 𝑥3 ln 𝑥 𝑑𝑥. 

 

 ∫ 𝑥3 ln 𝑥 𝑑𝑥 =
1

4
∫ ln 𝑥 𝑑(𝑥4) =

1

4
[𝑥4 ln 𝑥 − ∫ 𝑥4 𝑑(ln 𝑥)] =

1

4
[𝑥4 ln 𝑥 − ∫ 𝑥4 𝑑𝑥

𝑥
] 

 =
1

4
[𝑥4 ln 𝑥 − ∫ 𝑥3 𝑑𝑥] =

1

4
[𝑥4 ln 𝑥 −

𝑥4

4
] + 𝑐 =

1

16
[4𝑥4 ln 𝑥 − 𝑥4] + 𝑐 

 

10. Evaluate ∫ t2 ln(1 + t3) 𝑑𝑡. 

 

 ∫ t2 ln(1 + t3) 𝑑𝑡 =
1

3
∫ ln(1 + t3) 𝑑(1 + t3) 

 =
1

3
[(1 + t3) ln(1 + t3) − ∫ (1 + t3) 𝑑ln(1 + t3)]   (integration by parts) 

 =
1

3
[(1 + t3) ln(1 + t3) − ∫ (1 + t3)

3t2

1+t3 𝑑t] =
1

3
[(1 + t3) ln(1 + t3) − ∫ 3t2𝑑𝑡] 

 =
1

3
[(1 + t3) ln(1 + t3) − t3] + 𝑐 
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